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1. Which one of the following is a correct

relationship between mass and energy?

A. E= hc

m
B.E = —
c2

E
C.c = —
m

D.m = Ec?

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_7vTDc3xw8Hpg
https://dl.doubtnut.com/l/_HOa1i4rLKfM6

2. The law of multiple proportion was

proposed by

A. Lavoisier

B. Dalton

C. Proust

D. Gay-Lussac

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HOa1i4rLKfM6

3. Which one of the following pairs of

compounds illustrate the law of multiple

proportion?

A. HQO, NCL20

B. HgO, H202

C. NayO, BaO

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lrBGHsuXVFb1

4. Which of the following laws deals with mass

of reactants and products during chemical

reactions?

A. Law of definite proportions

B. Law of conservation of energy

C. Law of conservation of mass

D. Law of reciprocal proportions

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dSuWjsZ5kXPI

5. Hydrogen, sulphur and oxygen gives , and .

This is according to the law of

A. constant proportions

B. multiple proportions

C. reciprocal proportions

D. conservation of mass

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_uwZnKZpQ4NBw
https://dl.doubtnut.com/l/_b9LrxUmnf9hT

6. In the reaction Ny3Hy; — 2NN Hj ratio by

volume of N,, Hy, and NHj is 1:3:2 . This

suggested law of

A. definite proportions

B. multiple proportions

C. reciprocal proportions

D. combining volume

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_b9LrxUmnf9hT
https://dl.doubtnut.com/l/_5VuJP3mrfNXf

7. Law of conservation of mass is not correct

for

A. radloactive change

B. oxidation

C. hydrolysis

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_5VuJP3mrfNXf

8. Radioactive change follows the law of

A. conservation of mass

B. conservation of mass-energy

C. Both (a) and (b)

D. None of the

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Qvtc1QURw1B3

9. Different proportions of oxygen in the

various oxides of nitrogen prove the law of

A. equivalent proportion

B. multiple proportions

C. constant proportions

D. conservatlon of matter

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_63egumVYCfwi
https://dl.doubtnut.com/l/_mNaPMc1wEc5y

10. Two different oxides of a metal contain
20% and % oxygen by weight. This is an
accordance with the law of

A. conservation of mass

B. constant composition

C. multiple proportion

D. reciprocal proportion

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_mNaPMc1wEc5y
https://dl.doubtnut.com/l/_d17TW6IpKJeG

11. Two elements A and B combine to form two
compounds in which a g of A combines with b;
, and by, g of B, respectively. According to the
law of multiple proportions
A.b; = by
B.b; and by bear a simple whole number
ratio

C. a; and b; bear whole number ratlo

D. no relation exists between b; , and b,

Answer: B


https://dl.doubtnut.com/l/_d17TW6IpKJeG

° Watch Video Solution

12. Chemical equation is balanced according to

the law of

A. multiple proportions

B. reciprocal proportion

C. conservation of mass

D. definite proportion

Answer: C

| 8 l


https://dl.doubtnut.com/l/_d17TW6IpKJeG
https://dl.doubtnut.com/l/_kLW1YTkGjhoI

13. One part of element A reacts with two
parts of another element B. 6 parts of element
C reacts with 4 parts of element B. If A and C
combine together, the ratio of their weights
be governed by

A. law of definite proportions

B. law of multiple proportions

C. law of reciprocal proportions

D. law of conservation of mass


https://dl.doubtnut.com/l/_kLW1YTkGjhoI
https://dl.doubtnut.com/l/_D4F2ERYtMrA2

Answer: C

o Watch Video Solution

14. Two samples of lead oxide were separately
reduced to metallic lead by heating in a
current of hydrogen. The weight of lead from
one oxide was half the weight of lead obtained

from the other oxide. The data illustrate

A. law of reciprocal proportions

B. law of constant proportions


https://dl.doubtnut.com/l/_D4F2ERYtMrA2
https://dl.doubtnut.com/l/_Re2sMVNsJr72

C. law of multiple proportions

D. law of equivalent proportions

Answer: C

o Watch Video Solution

15. The law of constant proportion was

proposed by

A. Proust

B. Einstein


https://dl.doubtnut.com/l/_Re2sMVNsJr72
https://dl.doubtnut.com/l/_SsV6yEN4OoR0

C. Richter

D. Dalton

Answer: A

° Watch Video Solution

16. Formation of CO and CO, illustrates the

law of

A. reciprocal proportions

B. multiple proportions


https://dl.doubtnut.com/l/_SsV6yEN4OoR0
https://dl.doubtnut.com/l/_uwPIO3OSs9kI

C. conservation of mass

D. constant composition

Answer: B

o Watch Video Solution

17. Which of the following compounds do not

conform to the law of multiple proportion?

A.NaCl and BaCl,

B.CaO and Na,O


https://dl.doubtnut.com/l/_uwPIO3OSs9kI
https://dl.doubtnut.com/l/_4eiADzYqmbAg

C. H3P04 and CCL3(PO4)

D. All of these

Answer: D

o Watch Video Solution

18. Equal masses of oxygen, hydrogen and
methane kept under identical conditions. The

ratio of the volumes of gases will be

Al:1:1


https://dl.doubtnut.com/l/_4eiADzYqmbAg
https://dl.doubtnut.com/l/_RNSkUPFqrqnd

B.1:16:2

C.2:16:1

D.1:4:1

Answer: B

o Watch Video Solution

19. Law of combining volumes was proposed

by

A. Dalton


https://dl.doubtnut.com/l/_RNSkUPFqrqnd
https://dl.doubtnut.com/l/_cRv5VWHqGppc

B. Tswett

C. Gay-Lussac

D. Einstein

Answer: C

o Watch Video Solution

20. The law of multiple proportions is not

illustrated by which pair of compounds

A.CO and CO,


https://dl.doubtnut.com/l/_cRv5VWHqGppc
https://dl.doubtnut.com/l/_KFAIQXleMzak

B. CuO and Cu,O

C. COQ and H2003

D. 502 and SOg

Answer: C

o Watch Video Solution

21. Which of the following compounds

conform the law of multiple proportion?

A. HgCly,and HgyCl,


https://dl.doubtnut.com/l/_KFAIQXleMzak
https://dl.doubtnut.com/l/_FvyG2NC7rcY9

B. Na,O and CaO
C.NaCl and BaCl,

D. H3PO, and Ca3(POy),

Answer: A

o Watch Video Solution

22. A balanced chemical equation is based on

A. law of conservation of mass

B. law of constant proportions


https://dl.doubtnut.com/l/_FvyG2NC7rcY9
https://dl.doubtnut.com/l/_w2ytBAj6sJlB

C. law of multiple proportions

D. law of combining welghts

Answer: A

o Watch Video Solution

23. Consider the following laws
(I) Law of conservation of mass
(1) Law of definite proportions

(1) Law of multiple proportions


https://dl.doubtnut.com/l/_w2ytBAj6sJlB
https://dl.doubtnut.com/l/_8d4alIrgFPJd

Which of the above govern (s) the quantitative

aspects of chemical changes?

A. Only (1)

B. (1) and (1)

C.(I) and (I)

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8d4alIrgFPJd

24. 8 g of oxygen combine with 1 g of
hydrogen and 29 g of calcium therefore, when
calcium combines with hydrogen it must
combine in the ratio of 20:1. This statement
conforms to the law of

A. multiple proportions

B. reciprocal proportions

C. definite proportions

D. gaseous volume

Answer: B


https://dl.doubtnut.com/l/_q9fqv7nKD8VN

° Watch Video Solution

25. If 2.0 g of the hydrogen on burning in 16.0

g of oxygen forms 18.0 g of water then which

of the following laws is applicable?

A. Law of conservation of mass

B. Law of constant compositions

C. Law of multiple proportions

D. Law of reciprocal proportions

Answer: A


https://dl.doubtnut.com/l/_q9fqv7nKD8VN
https://dl.doubtnut.com/l/_aRCYCUsOnfCB

° Watch Video Solution

26. The ratio in weight by which carbon and
oxygen combine in a molecule of carbon

monoxide is

A3:4

B.3:3

C.3:2

D.3:1

Answer: A


https://dl.doubtnut.com/l/_aRCYCUsOnfCB
https://dl.doubtnut.com/l/_bBoZWXzsE7lB

° View Text Solution

27. Which of the following statements are
correct?

(I) When water is decomposed volume ratio of
to is 2:1, but the mass ratio is 1:8.

(1) Water is a polar compound

(1) Water is good conductor of electricity.

Select the correct answer given below

A. (1) and (Il)

B. (1) and (llI)


https://dl.doubtnut.com/l/_bBoZWXzsE7lB
https://dl.doubtnut.com/l/_abOaVvi5ORLL

C. (I1) and (1)

D. All of these

Answer: D

o Watch Video Solution

28. A gaseous mixture contains Hy , and N, ,
in the ratio of 1:4 by weight, the ratio of the

molecules is

AT:2


https://dl.doubtnut.com/l/_abOaVvi5ORLL
https://dl.doubtnut.com/l/_ImPlu8DncaTY

B.1:8

C.2:7

D.1:4

Answer: A

o View Text Solution

29. Real gas will approach the behaviour of

ideal gas at

A. low temperature and high pressure


https://dl.doubtnut.com/l/_ImPlu8DncaTY
https://dl.doubtnut.com/l/_TMONDN9rJfaG

B. high temperature and low pressure

C. low temperature and low pressure

D. high temperature and high pressure

Answer: B

o Watch Video Solution

30. Nitrogen combines, with oxygen to form

five gaseous oxides N>O, NO, NyO4, NO,,

and N,Os . This illustrates


https://dl.doubtnut.com/l/_TMONDN9rJfaG
https://dl.doubtnut.com/l/_qa0WVeVp67tc

A. Gay-Lussac law

B. Law of constant composition

C. Law of multiple proportion

D. Avogadro's law

Answer: C

o Watch Video Solution

31. Equal volumes of all gases under same
temperature and pressure contain equal

number of molecules according to


https://dl.doubtnut.com/l/_qa0WVeVp67tc
https://dl.doubtnut.com/l/_jCv99GYcUHp5

A. Avogadro's law

B. Charle's law

C. Boyle's law

D. Graham's law

Answer: A

o Watch Video Solution

32. Matter can be converted into energy. It is

represented by


https://dl.doubtnut.com/l/_jCv99GYcUHp5
https://dl.doubtnut.com/l/_DaEM1iMYz064

A E? = me

B. E = mc?
CE—1 2
. —2mc
D. E = m?c
Answer: B

o Watch Video Solution

33. Which of the following is not a chemical

reaction?


https://dl.doubtnut.com/l/_DaEM1iMYz064
https://dl.doubtnut.com/l/_TpDrJnozcR6R

A.Burning of coal

B. Purification of milk

C. Vaporisation

D. Formation of water

Answer: C

o Watch Video Solution

34. The law regarding the conversion of mass

into energy was given by


https://dl.doubtnut.com/l/_TpDrJnozcR6R
https://dl.doubtnut.com/l/_Sev9ve3DxCtx

A. Rutherford

B. Einstein

C. Currie

D. Bohr

Answer: B

o Watch Video Solution

35. The law of multiple proportions is

illustrated by the two compounds


https://dl.doubtnut.com/l/_Sev9ve3DxCtx
https://dl.doubtnut.com/l/_mJ36p2zDev90

A. NaCl and NaBr

B. ordinary and heavy water

C. caustic soda and caustic potash

D. SOQ ’ and 503

Answer: D

o View Text Solution

36. If the pressure of a gas is reduced to half
and temperature is doubled, its volume

becomes


https://dl.doubtnut.com/l/_mJ36p2zDev90
https://dl.doubtnut.com/l/_K1VwwEK4nSc3

D.4V

Answer: D

o Watch Video Solution

37.Sparking is produced in a mixture 20 mL O,
, and 20 mL CO, the volume of the gaseous

mixture obtained will be


https://dl.doubtnut.com/l/_K1VwwEK4nSc3
https://dl.doubtnut.com/l/_zcRclyqfBzf4

A. 15 ml

B.30 mL

C.40 mL

D.45 mL

Answer: B

o Watch Video Solution

38. A 500 mL flask contains 400 mL H,, at 700
mm, 200 mL V5, at 350 mm and 100 mL He at

250 mm. The total pressure of the mixture is


https://dl.doubtnut.com/l/_zcRclyqfBzf4
https://dl.doubtnut.com/l/_OOdxpcNlRhTH

A. 750 mm

B. 700 mm

C.1300 mm

D. None of these

Answer: A

o View Text Solution

39. Hydrogen diffuses 6 times faster than the

gas X, the molecular weight of X is


https://dl.doubtnut.com/l/_OOdxpcNlRhTH
https://dl.doubtnut.com/l/_oZJ8xtyML02k

A.6

B.36

C.24

D.72

Answer: D

o Watch Video Solution

40. Which is correct relation between rate of

diffusion and their densities


https://dl.doubtnut.com/l/_oZJ8xtyML02k
https://dl.doubtnut.com/l/_YHsdaCvVWQhV

T da
.71 |2
T2 dl
r d
c.—+ =2
T d2
p.1L_ %
T di
Answer: B

° Watch Video Solution

41. At constant pressure the volume of a gas is

Vat 0° C. At which temperature it will be 3v?


https://dl.doubtnut.com/l/_YHsdaCvVWQhV
https://dl.doubtnut.com/l/_FclehzoybzQZ

A.300°

B.273°

C.573°

D. 546°

Answer: D

o View Text Solution

42. A sample of nitrogen gas occupies a
volume of 320 mL at STP calculate its volume

at 66° C and 0.825 atm pressure


https://dl.doubtnut.com/l/_FclehzoybzQZ
https://dl.doubtnut.com/l/_uTQNH4cxILAZ

A. 526 ml

B.570.8 ml

C.481.6 mL

D.446.7 mL

Answer: C

o View Text Solution

43. Equal weights of methane and oxygen are
mixed in a vessel. The partial pressure of

oxygen is


https://dl.doubtnut.com/l/_uTQNH4cxILAZ
https://dl.doubtnut.com/l/_kOrSpj0hEe98

Answer: A

o View Text Solution

44, Two gases A and B have molecular weight

60 and 45. 0.6 g of A and 0.9 g of B are mixed


https://dl.doubtnut.com/l/_kOrSpj0hEe98
https://dl.doubtnut.com/l/_gWU1EODXZDDP

in a closed vessel. Total pressure is 720 mm.

The partial pressure of A'is

A. 240 mm

B.480 mm

C. 600 mm

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gWU1EODXZDDP

45. A gas have volume 400 cc at 1 atm and 7°

C the volume at 77° C and 1.875 atm will be

A. 2346 "CC"

B. 8250 "CC"

C. 266 "CC"

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_bOhaXkWbdWgo
https://dl.doubtnut.com/l/_aaIdcADcpn8H

46. 24 mL H, , diffuses in 100 s. How much

volume of SO, , will diffuse during the same

time?

A.11.312 mL

B. 5.656 mL

C.8 mL

D. none of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aaIdcADcpn8H
https://dl.doubtnut.com/l/_PamVYgMSSzHL

47. 32 mL H, , diffuses in 100 s. How much

SO, , will in the same time?

A.11.312 ml

B. 5.656 ml

C.8 ml

D. None of these

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_PamVYgMSSzHL

48. Elements A and B combines to form three
compounds

03gofA+04gofB — 0.7gofX

18g of A+48gof B — 66gofY

40 g of A+15999 g of B — 199.99 g of Z

Above data shows an example of

A. law of multiple proportion

B. law of constant proportion

C. law of reciprocal proportion

D. None of the above


https://dl.doubtnut.com/l/_E18c71ii0S4x

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_E18c71ii0S4x

